BURNPUR RIVERSIDE SCHOOL
ASSIGNMENT- 2: [2021-2022]
ENVIRONMENTAL STUDIES

Class -V
Maximum Marks-20

Name : Sec: Roll No.:

Fill in the blanks correctly: - (2x4= 2)
() stores food for baby plant.
(i) The lotus fruit has a part which enables them to float on

water.
(iii)  The effect of cooling is
(iv)  Matter can be classified into elements and mixtures.

Write true or false for the following sentences correctly: - (2x4= 2)
@) Outer covering of seed is called seedling.

(iii) Soil is not an agent of dispersal of seeds.

(iv)  Contraction is decreases in size of matter of cooling.

(v) Water cannot be used to remove turpentine oil.

Write one word answer for the following sentences:- (1x2 = 2)

(i) Name one seed with spine.

(i) This change cannot be reversed.

Choose and write the correct option:- (2x4= 2)

(i) Which of the following is rabi crop?

(a)wheat (b) rice (c) maize (d)cotton
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(i)

(iii)

(iv)

(1)

(ii)

(iii)

(iv)

(v)

In which of the following the particles are very close to each other?

(a) Gases (b) Liquids  (c) Solids (d) None of these

helps to loosen the soil.

(a) Irrigation (b) Manuring (c) Ploughing (d) Sowing

Matter changes its size and shape called

(a) Irrigation (b) Manuring (c) Ploughing (d) Sowing
5. Answer the following questions:

What is meant by agriculture?

How crops can be protected?

What is expansion of matters?

Name two properties of solids.

During cooking, everyone can smell the food across the house. Why?

Draw and label the process of ‘Germination of seeds’.
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BURNPUR RIVERSIDE SCHOOL

ASSIGNMENT 2: (2021-2022)

HINDI
CLASS-5
Maximum Marks- 20
NAME: SEC: ROLL NO.:
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BURNPUR RIVERSIDE SCHOOL

ASSIGNMENT-2: (2021-2022)

ENGLISH
CLASS: V
Maximum Marks: 20
Name: Sec.
1. Answer the following questions. (1X2=2)
i) How many family members were there in the writer’s house?
i) What was writer’'s mom doing in the basement?
2. Write the meanings of the following words. (1X2=2)
i) scraped together-
i) complimented-
3. State whether the statements are true or false. (1X2=2)
i) Writer's mom gave him an old wind up clock.
i) Writer's mom used to wash clothes three days a week.
4. Put the words in right order and make meaningful sentences. (1X2=2)
i) a/day/in/Rome/was/not/built
i) wins/slow/the /race/and/steady
5. Circle the subject and underline the predicate in the following sentences. (1X2=2)

i) The neem tree is well known for its medicinal properties.

i) Alice in Wonderland is written by Lewis Carroll.
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6. Underline the nouns in the following sentences and name its kind- common, proper,
collective or abstract. (1X2=2)

i) Ashok always speaks the truth.

i) The police dispersed the mob.

7. Fill in the blanks with suitable collective nouns. (1X2=2)
i) The of ministers was called for an urgent meeting.
i) The archer carried a of arrows.

8. Fill in the blanks with abstract nouns formed from the words in brackets. (1X2=2)

i) is the best time of our life. (child)
i) I believe in her . ( innocent)
9. Put a (V) against countable nouns and a (X) against uncountable nouns. (%X4=2)
i) Bread-
i) Banana-
iii) Flower-
iv)  Oil-
10.Fill in the blanks with correct gender. (%X4=2)
MASCULINE FEMININE
i) hunter
i) poetess
iii) goose
iv) drake
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BURNPUR RIVERSIDE SCHOOL
ASSIGNMENT-2: (2021-2022)

MATHEMATICS
Class -V
Maximum Marks:20
NAME: SEC: ROLL NO.:
Write the numerals for the given humber names and mark the periods. (1x4=4)

Three crore twenty-seven lakh ninety-one thousand five.

Twelve million five thousand forty.

Ninety crore ninety thousand one .

Thirty-two million seven hundred ninety-one thousand five.

Write the following numbers in words using Indian System of (1x2=2)
numeration.
5,54,00,023

60,60,060

Write the following numbers in words using International System of (1x2=2)
numeration.
543,250

205,625,145

Find the predecessor of the smallest 8-digit number. (1)
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5. Find the successor of the largest 7-digit number. (1)

6. Write the number name for the number obtained after adding the largest 6-digit (2)
number and the smallest 7-digit number.

7. Form the smallest and the greatest 8-digit numbers using the digits given below: (2)

8,9,0,5,4,7,6,3

8. Write in descending order (2)
86754932 , 77346591 , 92668844 , 57489371 , 98537782

9. Round off of the given number to the nearest 10 and 1000 (1x2=2)
612390
10. Add the following (2)

115430 + 2156 + 602715039
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BURNPUR RIVERSIDE SCHOOL
ASSIGNMENT- 2: [2021-2022]
SUBJECT :BENGALI

CLASS : V
Maximum Marks-20
NAME : SEC.: ROLL NO.:
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